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12 ユークリッド空間
x ∈ Rn,M ⊂ Rnとする。

定義 1: x ∈ M i ⇔ ∃r > 0 s.t. B(x, r) ⊂ M .

定義 2: x ∈ M ⇔ ∀r > 0, B(x, r) ∩M ̸= ∅.

定義 3: x ∈ M c ⇔ x /∈ M .

1
(1) y ∈ B(x, r)とする。　どのような δ > 0に対して B(y, δ) ⊂ B(x, r)　とな
るか？

(2) y ∈ B(x, r) ⇒ ∃δ > 0 s.t. B(y, δ) ⊂ B(x, r)　を示せ。

(3) B(x, r) ⊂ M ⇒ B(x, r) ⊂ M i　を示せ。

(4) (M i)i = M i を示せ。

2
(1) (M)c = (M c)i を示せ。 (M c)c = M を示せ。

(2) (M) = M を示せ。

3 Z[1/2] = {q ∈ Q : ∃n ∈ Z>0 s.t. 2nq ∈ Z}とする。 ex. 1
2 ,

3
8 ∈ Z[1/2],

1
6 ̸∈ Z[1/2].

(1) (Z[1/2])i を求めよ。

(2) ∀x ∈ R,∀r > 0, (x− r, x+ r) ∩ Z[1/2] ̸= ∅を示せ。

(3) Z[1/2]を求めよ。
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